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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1- 1 would like to compliment Jaden for the course of action he recommended because |

think it will <=--ceeeeeee our problem once and for all.
1) sequence 2) speculate 3) signify 4) settle

P — is often expressed as a simile, as in “The football game was like a battle
between gladiators.”
1) endeavor 2) invasion 3) analogy 4) arena

3- Do you know of an alternate route we could take to ----------— having to drive through
the city?
1) circumvent 2) delight in 3) partake of 4) suggest

4- My political science professor presents her lectures in a relaxed manner using —-------- -
rather than elaborate language.
1) loquacious 2) colloquial 3) literary 4) inflated

5- My uncle, a farmer, is an - pessimist when he discusses the weather. For
example, if the sun is shining, he’s sure a drought is beginning; if it’s raining, he’s sure
his crops will be washed away.
1) initial 2) instant 3) immutable 4) interactive

6- The pharmaceutical company had to --—-----—— its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

1) repudiate 2) enhance 3) distribute 4) replicate

7-  It's an —--eeeee- --- to their friends as to why the couple broke up because they seem
perfect for each other.
1) interference 2) inference 3) alteration 4) enigma

8-  Mr. Baker has decided to move to a big city because of a —--——- --- of employment

opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth
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9-  There are many good reasons for not smoking, but those having to do with health are

the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
10- -——--—-—- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemeemen the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -==-==nmv-- it is quite
possible that it began earlier. In September 2018, scientists (13) ------renmm- the
discovery of (14) —==eemmeeeen by Homo sapiens, which is estimated to be 73.000 years
old. much earlier than the 43.000-year-old artifacts (15) --=--=------ to be the earliest
known modern human drawings found previously.

11- 1)are 2)is 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Revegetation is the process of replanting and rebuilding the soil of disturbed land. This
may be a natural process produced by plant colonization and succession, manmade
rewilding projects, accelerated process designed to repair damage to a landscape due
to wildfire, mining. flood, or other cause. Originally the process was simply one of
applying seed and fertilizer to disturbed lands, usually grasses or clover. The fibrous
root network of grasses is useful for short-term erosion control, particularly on sloping
ground. Revegetation helps prevent soil erosion, enhances the ability of the soil to
absorb more water in significant rain events, and in conjunction reduces turbidity
dramatically in adjoining bodies of water. Revegetation also aids protection of
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16-

17-

19-

20-

engineered grades and other earthworks. It is often used to join up patches of natural
habitat that have been lost. and can be a very important tool in places where much of
the natural vegetation has been cleared. It is therefore particularly important in urban
environments, and it has been shown that revegetation projects can significantly
improve urban bird populations: connecting a revegetation patch with existing habitat
improved bird species richness, while simply concentrating on making large patches of
habitat was the best way to increase bird abundance. Mine reclamation may involve
soil amendment, replacement, or creation, particularly for areas that have been strip
mined or suffered severe erosion or soil compaction. In some cases. the native soil
may be removed prior to construction and replaced with fill for the duration of the
work. After construction is completed. the fill is again removed and replaced with the
reserved native soil for revegetation. Mycorrhizae. symbiotic fungal-plant
communities, are important to the success of revegetation efforts. Most woody plant
species need these root-fungi communities to thrive, and nursery or greenhouse
transplants may not have sufficient or correct mycorrhizae for good survival.

Which of the following is more important to bird species richness in urban areas?
1) Developing large patches of continuous habitat.

2) Reserved native soil for revegetation of habitat.

3) Mine reclamation involving replacement of habitat.

4) Connecting a revegetation patch with existing habitat.

The passage points to the fact that revegetation --—---eeeeeeeen 5

1) used to depend solely on seed and fertilizer application

2) increases the ability of the soil to absorb necessary minerals

3) cannot succeed without symbiotic fungal-plant communities

4) may. in fact, damage landscape by increases chances of wildfire

It might be understood from the passage that —-—--—eeeeeee,

1) manmade rewilding projects result in plant colonization

2) grasses work best for revegetation on sloping ground

3) woody plant species produce root-fungi communities

4) revegetation is not actually essential to horticulture

According to the passage, revegetation is useful for all the following except

1) protecting engineered grades 2) irrigating neighbouring grounds
3) preventing soil erosion 4) improving water clarity

The word ‘amendment’ in the passage (underlined) is closest t0 ~==--=seeeeeeee,

1) “fertilization’ 2) ‘increase’ 3) ‘correction’ 4) *cultivation’
PASSAGE 2:

Soil retrogression and degradation are two regressive evolution processes associated
with the loss of equilibrium of a stable soil. Retrogression is primarily due to soil
erosion and corresponds to a phenomenon where succession reverts the land to its
natural physical state. Degradation is an evolution, different from natural evolution,
related to the local climate and vegetation. It is due to the replacement of primary plant



d axiwo T17A (YY) 05 = O pwiige 9 pole

21-

22-

24-

communities (known as climax vegetation) by the secondary communities. This
replacement modifies the humus composition and amount, and affects the formation of
the soil. It is directly related to human activity. Soil degradation may also be viewed as
any change or ecological disturbance to the soil perceived to be deleterious. At the
beginning of soil formation, the bare rock out crops is gradually colonized by pioneer
species (lichens and mosses). They are succeeded by herbaceous vegetation, shrubs
and finally forest. In parallel. the first humus-bearing horizon is formed, followed by
some mineral horizons. Each successive stage is characterized by a certain association
of soil/vegetation and environment, which defines an ecosystem. Afier a certain time
of parallel evolution between the ground and the vegetation. astate of steady
balance is reached. This stage of development is called climax by some ecologists and
‘natural potential® by others. Succession is the evolution towards climax. Regardless of
its name, the equilibrium stage of primary succession is the highest natural form of
development that the environmental factors are capable of producing. The same soil
may achieve several successive steady state conditions during its existence, as
exhibited by the Pygmy forest sequence in California. Soils naturally reach a state of
high productivity, from which they naturally degrade as mineral nutrients are removed
from the soil system. Thus older soils are more vulnerable to the effects of induced
retrogression and degradation.

The ‘natural potential’ in the passage can best be termed ------—--------,
1) *ground balance’ 2) “equilibrium stage’

3) “parallel evolution’ 4) *succession’

It is stated in the passage that ——--—-—e-eeeeee,

1) each soil experiences only one steady state condition during its existence
2) stable soils are usually subject to retrogression twice in their formation
3) replacement of climax vegetation is directly related to human activity

4) soil and environment may not always be associated in an ecosystem

Which of the following is not correct as to the appearance of items on soil in the course
of its formation?

1) herbaceous vegetation—>shrubs 2) lichens=> herbaceous vegetation
3) lichens and mosses—> forest 4) forest=>herbaceous vegetation
It may best be understood from the passage that ——-—-—--—euv-- x

1) retrogression usually occurs after a period of degradation

2) younger soils are relatively less subject to retrogression

3) older soils go through three successive mineral horizons

4) degradation and retrogression rarely, if ever, related

The word ‘deleterious’ in the passage (underlined) is closest to ---- 5

1) “harmful’ 2) “unstable’ 3) “unproductive’ 4) “gradual’

PASSAGE 3:

Reclaimed or recycled water (also called wastewater reuse or water reclamation) is the
process of converting wastewater into water that can be reused for other purposes.
Reuse may include irrigation of gardens and agricultural fields or replenishing surface
water and groundwater. Reused water may also be directed toward fulfilling certain
needs in residences (e.g. toilet flushing). businesses, and industry. and could even be
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27-

28-

29-

30-

treated to reach drinking water standards. This last option is called either "direct
potable reuse" or "indirect potable” reuse. Reclaiming water for reuse applications
instead of using freshwater supplies can be a water-saving measure. When used water
is eventually discharged back into natural water sources. it can still have benefits to
ecosystems, improving streamflow, nourishing plant life and recharging aquifers, as
part of the natural water cycle. Cycled repeatedly through the planetary hydrosphere.
all water on Earth is recycled water, but the terms "recycled water" or "reclaimed
water" typically mean wastewater sent from a home or business through a sewer
system to a wastewater treatment plant, where it is treated to a level consistent with its
intended use. There are the following principal driving forces for wastewater reuse:
increasing water scarcity and stress; increasing populations and related food security
issues: increasing environmental pollution from improper wastewater disposal. and:
increasing recognition of the resource value of wastewater, excreta and greywater.
Already. the groundwater aquifers that are used by over half of the world population
are being over-drafted. Reuse will continue to increase as the world’s population
becomes increasingly urbanized and concentrated near coastlines. where local
freshwater supplies are limited or are available only with large capital expenditure.
Large quantities of freshwater can be saved by wastewater reuse and recycling,
reducing environmental pollution and improving carbon footprint.

The passage points to the fact that e

1) plant life is usually nourished through natural streamflows

2) reclaimed water reaches homes through the sewer system

3) capital expenditure seldom improves freshwater supplies

4) human waste is important in terms of its resource value
According to the passage,

1) wastewater reuse has an impact on carbon footprint

2) modern sewer systems have reclaiming water facilities

3) water scarcity and stress has little to do with wastewater

4) used water cannot be discharged back into natural water sources
It is stated in the passage that - .

1) both direct and indirect potable reuse provide drinking water

2) water reuse is mostly concentrated near coastlines of arid areas
3) the planetary hydrosphere is largely made up of recycled water
4) the main function of reused water in urban areas is toilet flushing
The passage mentions that ‘reclaimed water’--——-—--mueev,

1) is converted again into wastewater after several stages of reuse
2) can potentially increase type one of environmental pollution

3) is already being over-drafted near the groundwater aquifers

4) has. technically, to go through a wastewater treatment plant

The word ‘replenish’ in the passage (underlined) is closest t0 —=——-eeee,
1) “create’ 2) ‘flow’ 3) fill’ 4) *clean’
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